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In the given diagram : [ ’
L. Rectangle represents persons mhyo know English

II.  Tnangle represents persons who know Marathi.

. Square represents persons who know Telugu.

IV.  Circle represents persons who know Hindi. ficiency among the
The regions labelled from 1 to 12 represent various combinations of language Profic

individuals.

How many individuals can speak Eg%iSh exclusively ?

2 - —> English (3T
Marathi (R0t 4 5
3 "
6
¢ 2
9
8 11 Hindi (f&h
10
—>Telugu(ﬁ§'1)
(A) 19 (B) 5 8 ©) 17 (D) 12

&

afz i F A A, F, K, P, &, S w amam 2

. t l?
If the sequence of letters is A, F, K, , what comes next ?
(A) T (B) U <l <€ Vv D) W
mﬁmﬁﬁqhﬁ@iﬂ%ﬁmﬁ%ﬁ@m@gwmm%mm%l

0 . .

Select the option in which the nur@ers share the same relationship as that shareq by the given pair of

numbers.

185 : 199
(A) 126:134 (B) 178:187 (€) 139:153 D) 89: 106

o fifigs @re #, ‘LEARNING” & *160° % &9 # forar smar 8 | 3o #re § "PREPARATION" %% firar
ST@ 2

In a certain code, ‘LEARNING?’ is written as *160’. How will ‘PREPARATION® be Written in that code 9
(A) 248 (B) 124 (€) 266 D) 133 '
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12.

rorae st e e s 71 5 SReTC AR Fif s i s &, LT e

. . - a
Arrange the following words as per their order in an English dictionary and choose the one

first : o 1
Hardboard; Handspring: Handover; Hnndstﬂf

: ' d
(A) Handover (B) Ilundspnng:‘; (C) Handstand (D) Hardboer
Ee @ Aifv | o
Complete the series. '
2,6,12,20,30.42, |
(A) 65 (B) 56 ® © 4 (D) 51

aﬁ”*lwth.lﬁmﬁ;leﬁﬁ%H.|W“T§%3ﬂ(HXIETW%H,Iﬁﬁ%,?ﬁW

dafFEs e PR AR R

If H + 1 means H is the sister of I; H 5
which of the following means that J is the daughter of P ?
(A) P-QxJ-M (B) P+Q—Jx% © P-QxJ+M (D) PXQ‘-H'M

e e foreredt & @ =€ wee fte < R g @i “PARANORMAL ¥ TAF STE FT et T T I
{_n

FE 9T ST & | o
Choose the word from the given altemati&s that cannot be formed using each letter of the given word

fl,
— 1 means H is the brother of T and H x I means H is the mothef o

FH

‘PARANORMAL’ only once. <
(A) NORM (B) PALM = (C) ROAR (D) RARE
FE A g ST A A | @

Find the missing number in the series.

20, 35, 60, 105,190, .

(A) 225 (B) 280 (©) 560 (D) 355
Preferfiaa & & . sriva e, W% S0 3 e v ) e v E d awiar 2
Which of the following diagrams best illusgges the relationship between Earth, Sea and Sun ?

(A) (B) C OO
C:g @% © O .

TOTH & 2 I8 T LET I
(4) e ® S o) e SikanT
Lion is to in Den as Spider is to % (D) (3\T3)
(A) Web (B) Hill = ©) Tree
A D
it b et A Y L SN
(A) SO ®) 70 (C?igz’a’“ TR ' 2
i
30 o s o o % £ vl g o
(A) 50m (B) 70m s40 ‘?C;{OW far is priya fro:lrht(r) n;,rtthen tu.med nigh ang
................................. 60 m Starting point 9

- - -
- - -
- -
-
-
-
-
-
-
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I 1 1l v v od
(A) H) (B) (f) /«L) )H (D) ”(
14. qmmﬁmww%ﬁawﬁmaﬁaﬁtw@ﬁwﬁqa@aﬁ?m Wﬁ’ﬁmm%'
rsfreT ITos o fha et sfesmwr e 2
A) @ (B) dfym (C) afequr (D) IH

(A) East (B) West ofC) South (D) North
15. UF S5a1 4 F87 [X & BHl & IR @8H A, B, C, D%&ﬁ
afom T A ﬂwr—@ J@WEIC | FWED
St Ty & STt BT 28 23<] 17 27
: -
Srefaiien e & STl » [ 2 3
S Ffier wdie & Il e & |
ST :'t'&_”ﬁ:‘““”i A 6 17 9 | 15
1T T 7 S ST |
21wt § 3ol s 64 55 4 | 76
ST g & & For e & St giawa T g 2
(A) THEA (B) ¥=H B ((C) aFmAC (D) ¥|WHE D
A school has four sections A, B, C, D of Class IX swents.
Result Section A Scﬁ%on B :L Section C | Section D
Students failed in both exams 28 {«’-Iﬁ 7 27
: . - )
Students failed in half-yearly 14 @h | 8 13
but passed in annual exams I 1 i
Students passed in half-yearly 6 17 9 1S
but failed in annual exams - | I
Student passed in both exams 64 55 . 46 76
B ‘_“\—
Which section exhibits the highest pass pcht ntagc in either Of the two examinations 9
(A) Section A (B) Section B (C) Section C (D) Section D
DzU2a ~TTTTTTTTTTTITTTTTTT e Pagedof 24 T TTTTTeeeeeeel .

13. ﬁﬂémﬁammﬁﬁmmmmwﬁﬁﬁ&aﬁﬁmaﬁwﬁw

) T @A A |

Study the provided figures carefully and choose an option from t
pattern observed in the problem figures.

(1) || () [ (h
Ic|[C1 |1 Cc|cC

he answer figures

is
A cyclist rides 12 kilometres west and then turns right and rides 7 kilometres. In which direction 1S
cyclist now travelling ?

s L

that maintains the -

mE
Stuc
nex

17.

18.
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16. mmmaﬁﬁqsﬂrwm%ﬁ@éaﬁﬁy@ﬁwﬁaﬁﬁ:m D vious ¢d
Study the graph and find what is the maximum percewgc increase of tea
next year.
2023
2022
2021
2020
2020 2021 2022 20
‘.F milk (39) 14 15 16 9]
| ES coffec (FTEN) 14 13 16 e
Ml ez GT) 13 5 17 2§
(A) 10% (B) 30.25% (ijl76596 (D)  20%
17. 21T Fre T T I 0k Fefead e H Sat + %’ ST R, X g &,

e FrEmiaTE AU <+ R g |
Simplify the following expression using the given code language, where ‘+> represents ‘x’, "X’ represents
‘—*_ ‘—’represents ‘+’ and ‘+’ represents 4.
9+4-6x6+8
(A) 16 (B) 8 ©) 12 (D) 24
18, e Feot g i fa g e Y I T E |

Choose the next figure that continues the pattern.

ol

AN, 2
%‘%’9&%‘
L]

(B

(A) ‘Ei%ig’ (B) <:i%i§> i <:ig§g’, D) .<E;EEE!,

19. QIgw QU AT :

Complete the analogy :
145 : 15% :: 5327
A) 32° B) 52° (©) 35

--——
--a
-o
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A _J“@fm"'f'wﬁm@mmﬁmammwmmm%“ ' 3
g (R ) st e

B = ) ® W@?%ﬂ%g () it @) (D) T ) "

If you have a regular p hat shape is

cross-section ? pentagonal prisnggnd you slice it parallel to its bases, W

(A) Hexagon (B) Rectangle od (C) Square (D) BEEE
IFTFH | STTAT F7 3Ty & 9 ]
What comes next in the sequence ? ®)
A.C.E .G,
A 1 ®) H © 3 @) K

gﬁ?‘g@?ﬁ“m@w% | T FTE T Tk R Uk et 39N gqft ey o et Al 2 | e WHTE 3, 8 ¢ 2
K TR & | ST SfTarearshl it qu e 3 R ot shre 7 et fae 2

I el e & o v e R, 9 gt o g e wen 2

(A) 83K B) 33K () () 83kE (D) 33NE

Four cards are placed on a table. Each car@as a number on one side and a letter on the other. The cards
on display show 3, 8, E and K. Which card®hust be turned over to satisfy our requirement ?

“If a card has a vowel on one side, then it hagan even number on the other side.”

(A) 8andK (B) 3andK (C) 8andE (D) 3and E

]
T TAgh! ht AR SO d U Faftm e @)ae wrgeht 3 fram it gciicht wam 1 91 & 1 fafem 1 ot
UTadt T 3T ASH A FAT T & 2
(A) (B) #f (C) Tt (D) s=&
Pointing towards a girl, Vipin says, “This girl is the daughter of the only child of my father.” What is the

relation of Vipin’s wife Parvathy to that girl ?

(A) Daughter (B) Mother o (C) Aunt (D) Sister
AgE I HIC 8

FT : BIEETH m :? o

(A) enfhede (B) W o (C) Y (D) iR
Complete the analogy : 4

Camera : Photographer :: Microscope : ? [:] |

(A) Architect (B) Chef ®) (C) Pilot (D) Biologist
S 3t ket @ ¥ & ? o

(A) S & o el § (B) 24 g ? ®iw Ad &

(C) QAT ITE (D) A Wt &

How are dolphins and whales similar ?
(A) Both have scales
(C) Both lay eggs

(B) Both breathe air
(D) Both are fish
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26, TRwme o & it (graimew) i g fifae

Count the number of triangles in the given figure.

ol
A) 12 (B) 16 )18 (D) 10
2

ol
27. RumyRet . ae g st swen B g wa | %

Out of the figures given, choose the one that will completg the series.

] [=] (@] [=3 =) -
O efe] o -

28, T d ¥ faww g AifvT:
Find the odd one from the following :

piniairl I
NI e\ -

29, & aATgta # fohae mEa € 2

How many rectangles are there in the given figure ?

o0
O
L5
o
Find the next number in the series. | ]
62, 55,48,41, @)
i ®) 32 (€) 38

- -
-
-
-
--o
-
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Tl e 3, weeft stmpfer (x) i fow o 7t & e s S o1 E

Find out which of the figures can be formed from the pieces given in the first figure (X)-

by
M

&

—
7N
"’

A &&S

(C) (D) @

32. A F IR R IS wpd swatF
Choose the letter pair which is different frd@others in the group.
(A) GB (B) TO (C) OK (D) MH
33. %l@?ﬂ .11, 29, 83, ’
a@wﬁ ema“mw wTRT 2
Series: 3, 5,11, 29,83,
What 1s the next number in the series ?
(A) 283 (B) 253 o3 (C) 233 (D) 245
34, TS SH AR WA ARG H T aret ga@af aitr < 96 ot | i, 4 BT 78 AL IR TRETHEET 7
ST F1 % 4 AT BT ANTEH 347 TeT | AT 4T o Tt ST oY e 4 off 2
A few students went on a trip and the to ount planned to be spent was T 96. However, 4 students did
not turn up and as a result the remaining stdents had to contribute ¥ 4 extra. The number of students whe
attended the trip was :
(A) 8 B) 10 © 12 (D) 6
35. = seR-anE g €, i A i s F-freft w7 8 @ N &, SofF o o sem 2| A
- maﬁaﬁq |
Four letter—clusters have been given out of which three are alike in some manner, while one is different
Choose the odd one.
(A) HILN (B) PRTV (C) OQRT (D) BDFH
36. foawm @ FifeT |
Find the odd one. o
OIAND] O] 8
> o8
o
9 (D)
N O
9, ) 4
37. wEuRER# 6@ A, B, C, D, E, FEIB, &??,a'*;‘ C, Baﬁi“jﬁ% I A SR C faarfea ser2 | E. C
FUEEID, AR AARIF, Aaﬂ\m‘%l‘ff@; F'*B“:" “}'%?'"“W‘t A
A family consists of 6 members A, B, C, D, 18 ibe son O ut C is not the mother of B, A and C
are a married couple. E is me‘brother of C. D is the daughter of A F is the brother of A. How many female
members are there in the family ? i
(Aa) 1 ® 2 ©s3 (D) 4
YAt U Page8of24 T TTTTTUeee-e .
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38.

39.

40.

afe o Tt hir Fw 790 &, 7 10 syt A AT FTR 2

If the cost of 6 mangoes is T 90, what is the cost of 10 mangoes ?

(A) T120 (B) ¥130 N ©) T150 (D) %160 a|a'1
@ﬂﬁwwt1,764aﬁ€raﬁmﬁﬁﬁﬁmm%ﬁuﬁaﬁmﬁﬁﬁa5%aﬁﬁmw
Sy &t g Ty fora oft 4 interes!

A sum of money is paid back in two annual instalments of T 1,764 each, allowing 5% compou®

compounded annually. The sum borrowed was :

C 30 B e s 18 faeit o 24 FoAl AT FHRA & | ST 8 ot e e e v o

T B3IV HE i e At A qu e o2
1 o3 ) 8lfm D) 10fA

A) sfa (B) 55 fea o8 3 )

C and B can do a work in 18 days and 24 day*

C left. In how many days did B finish the remai i

(A) 5 days (B) 5% days @ (© 83 days (D) 10 days

A 3R B YT UF FE ) 75 R § e g § | S0 T 61 FR I TR A A ¥ 3o wea 916

(C) ¥3,200 (D) %3,240

. then
respectively. They worked together for 8 days and

ng work ?

re fedn

41.
3t B 3 9w e A 23 et & o A 3o 37 B ¥ foher foedt & ama ot faar 2
(A) 26f@ (B) 19fF ) 18f= D) 25fA 5
A and B each can do a work in 75 days. They began the work together but A left after §ome time ‘z;.n
completed the remaining work in 23 days. After how many days of the start of the work did A leave :
(A) 26 days (B) 19 days o8 (C) 18days (D) 25 days 3
42 e 6 B 25% g 1T | e R 20% e fear e e R 10% s e T | Y 1A
oot afg w2 2 i .
The increase in the price of a certain item was 29%. Then the price was decreased by 20% and then again
increased by 10%. What is the resultant increasejn the price ?
(A) 5% (B) 10% “d ©) 125% (D) 15%
43. SHEYT: T 180 Wi ferciiom 3 T 280 ¥fd -)atawﬁawaﬁtamaﬁmagmﬁﬁammﬁa
aTH firsyor &t € 320 Wi FeReTiom WX S ST W 20% 1 AT & 2
In what ratio must the two types of tea at ¥ 180/kg and ¥ 280/kg respectively be mixed so that the obtained
mixture sold at T 320/kg earns a profit of 20% ?
(A) 3:13 (B) 4:13 (C) 1:14 (D) 2:13
wfer <t &t & sfte 1 U 2 - e
44. A B H Anidy ) Wéﬁs%aﬂthaﬁW@ﬁaﬁﬁBmmmmg
15 e a'miﬁm"'""“ ! 51%?: Y T, I 7 A & R e w2
: B) 3
(A) 225 (d) : g ©) 21.5fme D) 45 fre
The ratio between the speed of travelling of Agnd Bis 2 : 3 .
the time taken by B to reach a destination, If{gad walke'd ata rcliit:}l;f retflofe A takes 15 minutes more thay
taken to cover the distance ? \] ¢ the speed, how long would he have
:22.5 mintu i < ,
) JnTies (B) 39 mintucs (C) 21.5 mintues (D) 45 mi
) 45 mintues
45. e SFRTRT AU SN W 5% Sieh @ 3 1y 3 ,
. . JTE) | SEft 9 W 77 el g ag oy
A sum of money becomes three times at 5%, per ann . ) oI 6 ’l:" A
times in the same time ? um simple interest. At what rate % will it 1 ?
(A) 10.5% (B) 14% © 1% “Come gy
Y1077 e O (D) 12.59
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46. ﬁm%@mﬁqﬁwqmwﬁsaﬁﬁnmaﬁﬁmsaﬂ%mmw*mﬁggm%
[-1-1983 1 T 380 yfy w8 & ot 1-10-83, 1-10-84 3N 1-10-85 T ¥ 40 &7 afir #1 3 b
1-1-86 Y VTG grar &, At e wf wve fapareft d9r smw A £ 2 . last 3 years of iy Ho
A m;m’s p;nsion on retirement from service is equal to half the average salary during the0-83 1-10-84 3 1
service. His salary from 1-1-1983 is % 380 per month, with increment of ¥ 40 due on 1-1 ’ N |
1-10-85. If he retires on 1-1-86, what pension does he draw per month ? ‘
(A) T205 (B) %215 (C) 7225 (D) 7230

47.  afe foret w@war #1700, 0.35 R, @ 3@ @@ F 120% 719 A0 |
If 70% of a number is 0.35, then find 120% of that number. |

(A) 64 (B) 7.2 (CHB6.0 (D) 0.6 "
48.  TH IR Y 250 1 e wifiver w0 ¥ Ror sk aeq £y Ay st £y afe sifEa ged T 16% ol F,
ST arfas A fohaar @ 2 R

A trader marked the price of a commodity to include agoﬁt of 25% but allowed 2 discount of 16% on the

marked price. What will be his actual profit ?
(A) 16% (B) 25% (Cx]5% (D) 9% - -
49. T forae Raamdt it 30 wiitedt & fre stcermst siva 40 (G112 | 399 Tat=d SR 39% 24 Rzam“; i
3 & 1 afe 7 St et i fiver 7 frn e, 2 Tg 28 Wkl 7 sivew 38 7 & | A ST H T
THRHETE? \
The batting average for 30 innings of a cricket player is 40 runs. His highest score exceeds his lowest scor 36.

by 100 runs. If these two innings are not included, the average of the remaining 28 innings is 38 runs
Then the lowest score of the player is :
(A) 19 (B) 18 (C) 20 (D) 17

50. T fAmiaT U fa@w wes & 2000 THS A T 509ﬁru°rggﬁrat@ramjﬁa7{ﬁmaaq%m% | 39 ATAH 3
FTER, e 5% = TUEET WiET g wA ° W@aﬁ%‘,aﬁaﬁa’a’ﬁ%mmm | TS

D

50% TRt i SR & e mam ot | i fmtar =t feraaashar gem @ 2

A manufacturer undertakes to supply 2000 pieces of a’iﬂrticular component at T 50 per piece. According
to his estimates, even if 5% components fail to paé%athe quality test, then he will make a profit of
25%. However, as it turned out, 50% of the componﬂlts were rejected. Then what is the loss to the

manufacturer ? |:]
(A) %24,000 (B) ¥26,000 (®)3)3 28,000 (D) T 30,000

51. FFLEIT 6,400 F S T oft T Y 20% I E GE | AP HA A TR 2

By selling a car for T 6,400, Mr. Rao lost 20%. Then the cost price of the car is :
(A) %7,200 (B) ¥7,680 (C) T8,000 (D) ¥8,400

52. @gmgm-am@qaﬁueoﬁm%@p FO THEH 81 ® | A T8 T 580 F A=ar 2, @
Tah AT FET BT T AT €T § | et 3 R e R

A used two-wheeler-dealer sells a scooter for 460 angi}makes. some loss. If he had sold it for % 580, his
profit would have been double of his loss. What was thggost price of the scooter ?

(A) %520 (B) %540 (CPS 480 (D) %500

53. e AT o % faada 80 ot 16:’réﬁam'mrr€smw 7 Qnﬁ 12 a%ftaa'cﬁ% | RS d g frafy e
(A) 6.5 ferdft/eier B) 5.5 fadt/act (o6 'a““/ el (D) 7.5 foedt/sier
A boat goes 80 km upstream in 16 hours and 72 km do¥lstream in 12 hours. The speed of the boat in still

t )!

water is :
(A) 6.5 km/hour (B) 5.5 km/hour (€) 6.6 km/hour (D) 7.5 km/hour
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el e e )20 L Al v e e

Qn‘ an ‘"ﬂl “ ‘
ST
v A WA ai o r I v & Tty o ¥
IEUE] IINE ARIGE SIAs SETRETRTRE AL

(A) 12 1R vy () A Al € 7L g \
. (1) 1\ \

| ) y AR B\ FAR P

A person can row 22 ki an hour i il water and he tindy L JTRT RS

()

IWice
Vice an \\\“R 1O TOW “‘\ as o

tow down the stream. The speed of the wlpenn i

. | W)
(A) 12 kmn () Ve () 7 ) fegy 11 () 11 |
o ) ke
|2 3 \ ‘ R
Sy b v v (100 A i <
Find the HCF of 1. 2. 3 % Q@
IR SR SR
(A) B ! () l o
; as (B3) 40 o0 50

6. U wrier A aRy s ol wi & | afd 15 /i PEl W wor il a s wfvra ¥ o af srfid
A ¥ | 3u® e 45 aity srfvwTia & gE W SIEERCINESE T%W arfirrt & e 5 wfta wed & | @ R
w1 forg i g A v w1 O

s in an office. 115 Secedraries went on leave, then every Secretary

There are Senior officers and Secretarie
or officers went Mleave and now every Senior officer has

has two Senior officers. After that 45 Seni
5 Secretaries. Then find out how many Secretaries were there itally.

(A) 30 (B) 40 © 25 <] (D) 35
7. :ss.sm.144()mmwumaﬁmtl(*l~‘)mﬁm| O

Find the HCF of 285, 510, 1440. ®

(A) 14 B) 15 (€) 16 (D) 17

8. UI)HR(Waﬂﬂﬁﬁmm)ﬁm-wwmﬁwé&%Mﬁmwg?
(A) =T 10 (B) T 14 (€) TR 18 (D) DR 25

Which article of the UDHR (Universal Declaration of Human Rights) guarantees the right to seek asylum

from persecution ? _
59. uqftuEqUiET R VS
(A) e Fenfea afafirat oo B) it (t-afes e
() Mredaket atad (Fi-Aeket T D) FrF (-t )
The full form of NPA is .
(A) Non-Performing Asscts (B) Non-Public Assets
(C) Non-Package A'clmn (D) Non-g't‘mming Actions
60. IRy e fd F 9 e wA A 0
In which district of Uttar Pradesh is the *Shera Dance’ celebrated ?
(A) Amethi (B) Ayodhya (C) Lalitpur (D) Bijnor

R i e e e e cmmmmmmmm—m e deem i mm TR
- - - - - __-_—___-__--_..—--
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61.

62.

65.

67.

SATIh TCHTY] weor it wfty 1 qer sRym g 0

(A) T ERERT & IaureT w ufaey

(B) T st o wriferqut S #ht aqran 24T

(C) TIS[ET THTY IEATTR Y 8 AT

(D) maﬁtﬁwﬁwﬁ%mmqwgﬁw&qwﬁw

What is the main purpose of the Comprehensive Test Ban Treaty ? od

(A) Ban nuclear weapons production (:‘)

(B)  Promote the peaceful use of nuclear energy ¥

(C)  Reduce existing nuclear arsenals g

(D) Ban all nuclear explosions for both civilian and military purposes od
aﬁqwﬁwmﬁwﬁmﬁ%%ﬁmﬁmw%? <]

(A) @ (B) T © fw @) D) @fed
Arjuna Award is conferred for achievements in the field of : ®

(A) Sports ’ (B) Dance (C) Theatre (D) Literature
3fea fama shrew foraeht s 2 9

(4) TSIEyEE (B) IR
(C) THF. sAreamft (D) I A 1T

‘India Wins Freedom’ is the autobiography of whom ?
(A) Rajendra Prasad (B) Subhash Chandra 856
(C) L.K. Advani (D) Abul Kalam Azad \-

2016 = fereietor % sme RBI %t i i 500 3 1000 &9 3 Fe 1w 5w ‘f;
What percentage of 500 and 1000 rupees notes was received by RBI after thax@P 16 demonetization ?

(A) 98.96% (B) 95.65% (©) 93.27% QD) 97.45%
1993 & OTg AfHRl W g a@ie T 3 T ST 7T | ]

(A) TRZEH =T (B) RS G

(C) fawar =mon (D) AR 3R Teew Sy

The World Conference on Human Rights in 1993 adopted the .

(A) Amsterdam Declaration (B) Helsinki Declaratio

(C) Vienna Declaration (D) Helsinki and Amsterdam Declaration

mmmwﬁxﬁmﬁmaﬁtmﬁwﬁﬁwwﬁawaﬂqﬁm -
foru #fiei & T #i sgmT ? O

(A) 42af d@ead (B) 443t €umed (C) 73t wened AD) 79t gy

Which Constitutional Amendment Act extended the reservation of sea@3for Scheduled Castes
Scheduled Tribes in the Lok Sabha and State Assemblies ? o

) d
(A) 42°4 Amendment (B) 44™ Amendment  (C) 73" Amendment SD) 79" Amendment

“Arehesr” gt Ta o forg Troa  feera 8 2 ®

(8) erew (B) AT (©) o (D) g
The “Loktak” lake is located in which state of India ?

(A) Meghalaya (B) Manipur (C) Mizoram (D) Tripura
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Adda

o8 ST (SRR B TG Y AT ST I 351 gy ey

GET IT ON
Google Play

(A) T ®) = O © gy R
The words “Unity and Integrity of the Nation” in he Bresisisie: o (D) Hnga
principle ? M 1o promote which fundamental

(A) Equality
o
(A) TeamE

__is a software progr

(B) Justice
@Wm%ﬁm%mamm“‘ﬂ%mﬁmmh
(B) FhS

am that ﬁlferg
)
(B) Cookies  off

(C) Fratem :
ity (D) Sovereignty

ol (C) wreram
(D) ®rrE

all the data coming through the Internet
(C) Malware ’

(A) Antivirus (D) Firewall
70. aﬁ%mmm%mmmﬁmw%mm*%ﬁmm% 9

(A)  amTRe e fRque (ST {] (B) HTHIIN Jeafhm

(C) AT srasia - (D) TE arTerefter (i fipam

What is the term for the strategic use of soc@media platforms to communicate with an audience ?

(A) Social media marketing (B) Social networking

(C) Online chatting (D) Virtual In{EracuoN

Y I TS 1R ?

(A) SrEffRE (B) qrtAar © R (D) HRET

What is the capital of Bhutan ? .

(A) Brasilia (B) Porto-Novo E’Q‘ (C) Thimphu (D) Sarajevo
72, WRQ & G o T [ AT 2 b4 §

(A) @=IT ol (B) wereaT el A

(©) = iR e e of (D) T TR HY

Which is the longest River bridge in India ‘7(:]

(A) Rabindra Setu [:] (B) Mahatma Gandhi Setu

(C) Annai Indira Gandhi Bridge ® (D) Bhupen Hazarika Setu
73, e P SR TS AISHT e X 2

(A) I 1853 (B) T 1998 (C) I 1991 (D) s 1995

When did the Government present the Kisan Credit Card Scheme ?

(A) April 1853 (B) August 1998 (C) July 1991 (D) November 1995
74. mmﬁumamamaﬁ Bl aitgw & fe wehm aitard smme 2

(A) m@ﬁ%m%m%
(B) aqrfefer ufdey TmeRt

(C) e EEEnT S A G G
(D) qﬁmmﬁtﬁ%wﬁ

How does the partnership between
(A) Through cultural integration

(B) By imposing economic sanctions
ncreasing defence cooperation and maritime security

(€) Byi
(D) Through joint

D.7U-24

()
)
0l
ol

India andf‘}‘l ietnam change their regional security dynamics ?

]
®
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75. S 2024 9% i 9T H faug F Ym0

AA) TSR (B) wfeere @3

(C) Ifa= Fedtar (D) @faa et

Who is the Leader of the Opposition in the Lok Sabha as of June 2024 ?

(A) Rahul Gandhi o (B) Mallikarjun Kharge

(C) Arvind Kejriwal
76. “TTAS THT T & oFG@H FH § 7

Y (D) Sonia Gandhi

oy

(A) TR gE (B) frarsd wwlly (C) 31 aqar (D) TEHF
Who is the author of the book “Tughluq Nﬁﬂa” ?
(A) AmirKhusrau  (B) Ziauddin Bafgni  (C) Ibn Battuta (D) Allen Zen

77 FAUH T8 ST THE (IRENA) F1 T 3 2
(A) 37 (TR St & Suaii sty 3t 2
(B) foeprerefier autt 3 fre weerroy smrt shretzmnr forapfre et 2
(€)  IRENA TTIY] 3isii oht 3117 sig L e Sf3ke el &
(D) Zam s o Sfareeft S aftiommeit & for R weraar vem w5t 2

What does the International Renewable Energy Agency (IRENA) do ?
(A) Promotes the use of renewable energy

(B) Develops nuclear energy programmes for developing countries
(C) IRENA focuses on advancing nuclear power

(D) Provides financial aid for fossil fuelgdbjects worldwide

78. 3fE sTdeare fOe vamat & que & R e greT 3t Rrder wer ST 2 2

. £ ) -

(A) T B) T o © Fa¥s (D) UNCCT

Which organisation is held responsible foggpordinating global counterterrorism efforts ?

(A) INTERPOL (B) NATO (C) World Bank (D) UNCCT
79. T IR, §E, e IFavdeh TEAT T R ?

What is the GST rate for necessary items kike milk products, bread, etc ?

(A) 5% ®) 18% @ ©) 12% (D) 28%
80. =AY U ATET & HHaYTh ST o i T 719 foam 7/ S 2024-25 7 € 1 BWIE1 2 2

(A) TR e (B) 3ffEw (C) rurat e (D) 3T

What is the name given to NASA’s manned landing mission to the Moon which is likely to happes

2024-257? .

(A) Lunar Gateway (B) Orion (C) Apollo Regained (D) Artemis

81. il qni=gfRT STaifieh e (ITERYGETSHT 1 3ewa freifeiiad 1 swaerdan wafifa s 2 -
(A) Tt geared & fq qen s ()
(B) s IMH W ﬁ%ﬁw—g?sa‘m%wﬁgammf
(
(C) I=id €N ¥t enfirht o
(D) iafee-smeaia ferstef e e:l o
The International Thermonuclear Experimémal Reactor (ITER) project aims to demonstrate the feasid
of : N
(A) Nuclear fission for energy productiofs)
(B) Fusion energy as a large-scale and carbon-free source

(C) Advanced solar panel technology
(D) Space-based power generation
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82.

83.

87.

89.

90.

14 fod=t ! fohg w9 & e ST 2 2
A) T & feaw
(C) fogFafeay
14 September is celebrated as :
(A) National Hindi Diwas
(C) World Cancer Day
WRAHTEAT fraR wefua 0
(A) GEH i (B) sremmt

The Bharatmala Pariyojana is related to :
(A) Roadways (B) Waterways

GET IT ON

Google Play

(B) T gaamen f2ag
(D) tffam fran

(B) National Voters Day
(D) Engineer’s Day

(C) AT 5%z (D)

o

~ ‘((?) Airports (D) Forestry

ﬁm%%aﬁﬁﬁq-maﬂmmﬁm%aﬂ%ﬂﬁmﬁmmp

(A) Bl B) farf o () framm @s ) (D) 72
Which of the following festival is known as the f¢ val of lights in India ?

(A) Holi (B) Diwali <|(c) Christmas (D) Eid
mmﬁﬁmﬁmﬁaﬁﬁﬁmmmw@ﬁmm%? ,

(A) I (B) qaTE @)(C) TH (D) &=

Which of the following type of tax is submitted i

(A) Income Tax (B) Service Tax

n Indian GST ?

(C) Wealth Tax (D) Property Tax

ﬁnﬁ-ﬁiaaﬁﬁ%aﬁqe%ﬁmgﬁmﬁfﬁmmﬁamﬁrqﬁﬂm? .

(A) HETHT et
(C) <TIHE geadt

(B) WTFTW
(D) =T 7| "1EA T

Who among the following first propounded the id@@of Basic Education ?

(A) Mahatma Gandhi
(C) Dayanand Saraswati

ST i, 2020 — 21 T -1 TS HEIAT 1 TG SGEH A2

(A) T T (B) 3@H

In India, which state was the leading producer of E’Tes in2020-217

(A) Madhya Pradesh (B) Assam

(_)(B) Jawaharlal Nehru
‘:‘i(D) Raja Ram Mohan Roy

(D) FAE

<|(©) dferTg

C) Tamil Nadu (D) Kamnataka

@\

o “eTEeTed T 7 e AT (TR S 1 SIS ) F1 SHFA FH 2 2

(A) TEwH Tl (B) sFeufa T

(C) wfeaea (D) T ==

Who is the recipient of the first-ever ‘Lifetime Disturbing the Peace Award’ ?

(A) Salman Rushdie (B) Arundhati Roy
gag 4 e are AT T ?:

(A) i (B) USE

The Indian state with the lowest sex ratio is :
(A) Haryana (B) Punjab
@ (D) F I #

(A) D= S (AT / W (@31)

(C) D=N@E&/ S (E1H)

Density of a population (D)is:

(A) D= S (size) / W (weight)

(C) D=N (number) / S(space)

D.ZU-24

(C) Joe Biden (D) Rory Stewart

‘(’3(C) ELLR ) (D) IFEoTEe W2T
Py
o‘5((,) Uttar Pradesh (D) Arunachal Pradesh

o .

<](B) D = S(¥39) / N (dw=m)
(D =8 (3 r

D ) D=S(H=R) / S (7

®

“(B) D= S(space) / N(number)
(D) D =S(size)/ S(space)

- ————
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91.

92.

93.

94.

9s.

96.

247

AT SNt a1 wehraRToT SR 3 STidfteh gean @ 1 & FerdT @ ?
(A) wHH R Y SIgTd §U aTedfareh @ T ek yar e

(B) WIS {aT it it sravaahar sl G T quTH Fh
(C) TR 3 forw avmrft aFrtars a0 A 0k v srgmays whEs 1 geAATead FOE
(D) 9&EH 3R e wfswanay § gum Hh

How does the integration of biometric technology enhance India’s internal security framework ?

(A) By providing real-time location tracking enMncing overall surveillance

(B) By eliminating the need for human sccuril& R’crsonncl altogether

() By reducing paperwork and streamlining a@fhinistrative processes for citizens
¢

(D) By improving identification and veriﬁcatiop:rrocesses

1928 & ARrcht weame 1 I e R ||

(A) wETeHT et @ (B) &R e ved

(C) ISR (D) VTR TEE

Who led the Bardoli Satyagraha in 1928 ?

(A) Mahatma Gandhi (B) Sardar Vallabhbhai Patel

(C) Subhash Chandra Bose (D) Jawaharlal Nehru

2021 3, ST S e g s e g e e s S
T fearmar o 3

(A) @@ (B) e o3 (© et (D) <

In 2021, Instagram was ranked globally at ,. ! position on the Internet in Most Used S
Media Platforms Worldwide. '

(A) Second (B) First fg]) (©) Fifth (D) Fourth
Q

< 7 fosara o STmshRmr et foha 2

When did China invade Tibet ?

(A) 1952 (B) 1950 (C) 1953 (D) 1949

forferfiaa & & o Sfta st STeT QT it SNl Hehdeh W1 ST & 2

(A) FH3 (B) S oy (C) Haw (D) I

Which of the following organisms is considered @ bioindicator of water pollution ?

(A) Earthworm (B) Zebra 1;’5? (C) Frog (D) Lion

€
afé 3119 9162 INFORMATION' % 1, 5, 6 310 8 3rell o1 370 o6tk 3 0k arekqet st yreg a1 &
Y 39 3158 T ST & RIT €T 2 <]
If you can form exactly one meaningful Engligh fvord using the 1%, 50 gth /4 oth letters of the
‘INFORMATION’, what will be the fourth lettef'g} that word ?
(A) M B) T (€) R (D) 1


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

dda4Zz
T |

" ﬁqmwm mﬁ st g e o o AR
(A) &aTé e : wr

From the given options, fi NTRIITIL AL
: s, | . o i)
Projectile : Traje:m(n'\ nd the palr whist \
(A) Aecroplane : Route Chomy Shooting atar
(C) Shlp . Knots ¢ " (' )) H"“‘““(‘ ()"‘“
o8, AR uRT ¥ Ry vt areht ara fyfd 18 A
faradier feem areft wfey & S0, arferw #0 :

(A) 4.8 fdt ofy v (1) 4.0 fl vk
(C) 5.2 fomdft wfv v iy O 4.5 Tl ufer st
If the speed of a boat moving against the current 18 (8 kn/hr, what is the speed of the atream if the bost =

speed downstream is 50% greater than its gpecd upstreat ,

(A) 4.8 kmph 3) 4.6 kmph
(D) 4.5 kmph

(1) AT AT (e G TE LA
(1) Mum - wny
o the given pai

Al m"h,.'b

oy
) e, ) et oY R e R A e oy i £ oA g

(C) 5.2 kmph
99, 8 iex 3R 3k 16%&31#31@&33%1%%%?
What is the area of a triangle with base 8 metersipd height 16 meters ?
(A) 32m? B) 128m? E“’ ©) 15 m* (D) 64 m’
100. Y XF@EARAPFEARIZ, y % FaeafirR | 7 e A p R
(A) SUgE (B) ftqor-ufim o (C) I-afEm (D) aftgor.qd
Y is in the East of X, which is in the East of P. 2:11 in the North-West of Y. In which direction of Z 13 P ?
(A) North-East (B) South-West []© North-West (D) South-East
101, STEHT ST J1d HIT | Q)
Find the dissimilar number.
9271, 8482, 7633, 6724, 5745.
(A) 5745 (B) 9271 (€) 7633 (D) 6724

102. ﬁqﬁfﬁﬁﬁﬁﬂw—vﬁmﬁw%ﬁah

Which of the following numbers is different from the rest ?

13,17, 23,27, 29 f’)
A) 13 B) 17 o
(A) (B) ) () 23 ) 27

103. @manﬁaxwﬁmm%qzézoofxﬁsomﬁm%ﬁqﬁg
, ) o7 e & | Gt S S RO A U AT F
X‘fﬁ?ﬂ?@%ﬁwmﬁmm' 1 s e 400 fst 3 vy e ot fd wn &
: . (B) 64,15 fpfiser
(C) 58.15 ferHl/ACT [“l (D) 68,15 faafiate
() L ) cl

A man travels the first 200 km of his journey
200 km of his journey at 50 km/hr. What is his ayey, 0 km/hr,
pe

(A) 61.53 km/hr

(©) 58.15 km/hr () 6415 K/l
......................................... (1) 6818 ki

D.ZU- :
24 o N
BelTgrgq T e

" Due to bad weather he travels the next
Al g . .
peed for the first 400 ki of hix journey
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104. T TRt 1 3 g9 i g 2ol 3 2, <) o e & A 3w ey 1 A A A I
(C) Jaehr A

forureht ez oft 2
(A) A (B) A&

GET IT ON
Google Play

D) afe &1 109.

inti : - i her’s
Pointing to a photograph Daisy said, “I have no sisters but that man’s mother 1s mYy fat daug}nq

Whose photograph was it ?

(D) Husband’s

(A) Son’s (B) Daughter’s o6((’) Her own

105. TR wfarm ) 3k 20 fraft woh, e st e 1t 00 Pt vt | o e st e 721 31 20 Frofi o
mwm4sﬁmwmmmw|mmmﬁww%? 110
A © (B) ufim OG(C) aftor.d (D) T

Rani went 20 km towards west, then turned left

went 20 km: She again turned left and went 2 kn

d
She took a 45 degree turn towards her left and wcﬂ straight. In which direction is she walking now ?

(D) North-East

(A) East (B) West (C) South-East
106. mmmwﬁﬁmﬁ%wwgss’%mmmmmi
FF 2 s 7894673 1] i
WWS]MRTBWKDNJﬁ
™ - -
L. 3 HE & Tt o sifem At 37 farem ai &, 4 A oy S % =g F ifea far ST IRy |
2. IR EEAT F R SN ifm S 3k T 37 pad AT Y 70 % w5 i Fifed T SET IR |
3. 3fe uset i sifom it § & uw fywm € sik T B, O T8t 3k &l <Q’ I ifam Fwm F W F =
o FIfed FET BT | o3
(A) ZTWMNZ (B) KTMWNZ o (C) ZTMWNZ (D) KTMWNB

Read the following table and find the relevant co%]for ‘472938’ as per the conditions given :

Digit 2 [ 5[ 7738

4 6 3 1

Letter code M R T B V\@

K D N J

Conditions :
1.

2.
3. :

coded as ‘Q’ and the last digit as “W”.
(A) ZTWMNZ (B) KTMWNZ

107.

(A) 122 (B) 128
108. ﬁqnqwﬁ,ﬁa%am’faﬁtmﬁ%aﬁz%

S

o%

AT 15, 36, 63, 96, T SwTeh s ra AL

: D
Find the next number in the series 15, 36, 63, 96, o

o

If both the first and last digits of the number are odd digits, then both are to be coded as ‘S’
If both the first and last digits of the number are even digits, then both are to be coded as ‘Z".
If one among the first and last digits is odd and the other one is even, then the first digit has to &

(C) ZTMWNZ (D) KTMWNB

(€©) 135 (D) 145

feredt o & U % offe oft 7t Haier e & | |el fore

In the given question, there are two sets of lett

St e A R §U R | 3w 5 et Qe s 3w i T
& T I |

- . .
to the left of the sign :: which are connected in 0™

way. The same relationship obtains between the egg)rd set of letters and one of the four alternatives under it

Find the correct alternative.
18120 : RAT :: 18914719 : ?
(A) RINGS (B) RINCH
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109. Torsm gm s/ Hifs )

(A) 1 : freen :2’ ::Z:I
(©) w3 : 5 (&) . ) N
Find the odd pair.

(\) (B) Cow: Calf

(A) Dog : Puppy
g (D) Sheep : Lamb

(C) Tortoise : Turtle
110. TF TRER A, gie @ p, Q. R, SaﬂTTﬁlPﬁT&*ﬁzﬁam%’ Qufeett wzen ¥ 1 p, k #1 et 421
Q. R
R e ad s T s At IQ. TH '
(A) |9 (B) wnft Lo # (D) =7
@ T. P and Q are a married couple, () being the female
S. T is the mother of S. How is Q) related to T 7

: In a family, there are five members P, Q, R, S _
member. P is the only son of R, whose only daughter 18

(A) Mother-in-law (B) Sister-in-law (C) Daughter (D) Daughter-in-law

11. ﬁﬂ%ﬁﬁmﬁaﬁ@w%mﬁmmmmmﬁmﬂﬁm%lmaém g £t A

IEF TR W I T I AT | o ' '
The following pie-chart shows the percentage di$tribution of the expenditure incurred in publishing 2

book. Study the pie-chart and the answer the que@n based on it.
&

od
frdt geaF & JHEH 4 g arat fafy=1 =T o/ arious Expenditures (in percentage) Incurred

(afasra 4) 4 in Publishing a Book
@ . - -
- 108 0T AN Promotion\ Printing Cost
~ Cost ) A
LS 20% 20% 8
10% o &8 10% @\@
et &é@ o Royalty / @s@ S
15% 15% a
o
T T 8 _ Paper Cost
foreeat 25% oS Binding 5%
20% ol 20%

ﬁMWWW;@m@am% w@:ﬁ%ﬁﬁaﬁﬁmwa 3 sifehd g T 280 2, A1 G&
e i & g TS A AT TR

If the marked price of 2 book is set “.‘ 40% above the
cost of the paper used in one copy of the book
(B) %60

Cost price, and the marked price is T 280, what is the

(©) =30 (D) %50
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112. ﬁ%ﬁnﬁmg@m%mmwmm,

113.

HDYSMWNBQPOCRTBIL ZVEGUF o
ﬁﬁwﬁﬁaﬁﬁw@vﬁaﬁmmﬁmﬁa?
(A) B3RQ (B) D3y eXC) USMF (D) V3E

Answer the question according to the letter series é]‘?’cn below.
HDYSMWNBQPOCRTBLZVEGUF

Which two neighbours in the given arrangement auarthest in the alphabetical order ?

(A) BandQ (B) DandY ¢ 3)(C) Uand F (D) VandE

3% T 3 O B A, 40 F1 7 T R, 30 F1 HE vz B, 3 20 Fy 7 A FE A TG E A B

FIT T THT FEAE 0

If in a group of people, 40 like tea, 30 like coffee, and 20 like both tea and coffee, how many people |
only tea ?

(A) 20 (B) 10 5(C) 40 (D) 15
€}
V.4 114 R 118 Tenivr oy %]
wﬁwm)wwmaﬁmm%|f§%mmﬁm%mwﬁmﬁﬁ§agﬁ%wéﬁ@
et off 1 gt oft aE W i A svEAR
<@ WS TAfHd B I6® Aol o IR (fg
Tt T8, g I T 3R Qo g Rer ”
A= 9T, 1 e, 3 o 3E g @eam
TERTY el aal Iqeh! Wt 3TTre wart oft
T ST & He g Gt e ot
GE AL A q€ A gt arelt T ot | o
114. FafgHt Fr e @A e : O
(A) TSI (B) arcaeaqel & (C) Il (D) utfifs
115. ‘g o<t aeer 98 ot g et T o ﬁmw%anmf%;
(A) Gt (B) eSSt <](C) NARECLE] (D) &g/
116. 3 TeIivT &1 GE) ideh & Gahar € : []
(A) Fidt & Tt R (B) 1857 ST TR
(C) SIS T STEHHOT (D) WERTS FeA aalt
117. 39 Higar H FafEt HTAHL 7
(A) wErRd amf (B) QPEIFTANEE  (C) a0 (D) HRraTs
. T Ry R R '
o fi) wifes (B) & (C) ¥R (D)
119, fRumy fasweat & & e 1 ST PH-ATR 2
(A) fogedt (B) fawan (©) fagtt (D) faregre )
D7U2a T Page 20 0f 24 TTTTTTmmmmmmmeoo
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Afera gt T |

K aaamﬂﬁ'gnaﬁmﬂ .
IZI’ (% q;vfm (”) qw‘”.l.h"'l (¢ Wq )
of) QAR (D) =
21, 1987# ‘m(asﬁﬁn'aaﬁ«w‘m%amnl; Ocr T
(A) fasder amt (B) sftari aH ;;“ e (D) fora woaz e
22. e & & e s w2 o () fame
(A) HHA (B) CE| ‘J - (D)
3, T F R We R 2 L-J((.‘) :
A) 3 (B) 4 (3 (D) 6
4, " 0T T ISR R ‘
(A) T4 (B) F3 © TS (D) ut
5. 'Wﬁmwﬁmuﬁﬁmm%rwﬁﬁmﬁ‘ﬁ’wmww%?
(A) WSES (B) T ©) acehH (D) HdeA
6. “FET FOAEE TG T : Q)
(A) @ B) fafew ‘(»J{;’(C) ial (D) I
7. FHaTehd § AHE R : off
(A) T (B) =RWE o3 (C) FHIA @) T

. P & o v A aderon AT g B
[ () Wit ad o I IaT A T |

(A) SET g aeEe 7T |
(C)  TISH ARG BT TS SR <ot T | &) (D) e e TG W R |
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